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☺☺☺☺☺
1) Sue opens a charge card account with a department store. In the charge account agreement, the store indicated it charges 2% each month on the unpaid balance. 

a) What nominal annual interest rate is being charged? 

2% x 12 = 24%

b) What is the effective annual interest rate? 

(1.02)^12 -1 = 26.82%

c) What would be the effective annual rate if the interest is 2% compounded continuously?

e^(0.02*12) -1 = 27.12%

2) The Ace Company is considering two alternatives for material handling, the Tiger system and the Lion system. Both can meet the requirements. The costs/benefits of each are as follows:

Cost

UAB

Salvage Value


Tiger

$2m

$500,000
$100,000


Lion

$3m

$600,000
$700,000

Show using shorthand economic form, the NET PRESENT WORTH of each. Assume both have a useful life of 6 years and 8% interest.

NPV(Tiger) = -2,000,000+500,000(P/A,8%,6)+100,000(P/F,8%,6)

NPV(Lion) = -3,000,000+600,000(P/A,8%,6)+700,000(P/F,8%,6)

a) An access road requires $1,000 per year in maintenance. What amount should be set aside to pay for this maintenance given an interest rate of 5%? Assume an indefinite life.

A = iP

1000 = 5% x P

P = 50,000

b) In question 2 above, how would the shorthand economic result be changed if the Lion system only had a useful life of 3 years, while the Tiger system has a useful life of 6 years?

NPV(Lion: for six years): -3,000,000+600,000(P/A,8%,6)+(700,000-3,000,000)(P/F,8%,3)+ 700,000(P/F,8%,6)

Continue over if needed
